ater

(i) ¥ 1500 gHEAl & frafta & faw smq o=
T & fawfte w31 59 a8 & e A
ad ga fF fagelt @imd wiq #iwal @ @t
FTE? 10
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1. (a) Define Management Accounting and explain its
objectives. :

YaY S@icd H gt dfu 3 3Es SEvd
qETET | 8
P.T.O.
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(b)

2

Distinguish between cost control and cost reduc-
tion.

‘amﬁﬂwaﬁimﬁmﬁwaﬂmn 7

(a)

(b)

2. (a)

(b)

Or (3@

Explain the distinction between Financial
Accounting and Management Accounting.

fadta d@aa 3k waua a@iET ¥ s
TR | 8

Explain the term Cost Management. Discuss its
advantages.

‘AUTd WA 9€ ! GHSST | 3€eh olWl T
faa=a =it | ‘ 7

Write an explanatory note on the functions of
budgeting.

TSl & FEl W T Ao feoo fafa | 8

Explain the concept of Zero Base Budgeting.

A YR ST sl HehedAT GHHART | 7
Or (31w

The following details have been obtained from the
records of Smart Tools Ltd. for the six months of
2017 (and the sales of January 2018) in respect of
product X.

(i) The units to be sold in different months are:
July : - 201,100
August 1,100

11 317

(i)  You are required to determine differential
cost of producing 1500 units by increasing
capacity to 100%.

(i) What price would you recommend for export
of these 1500 units, taking into account that
overseas prices are much lower than
indigenous prices?

qm‘émvnwm%%mmmm
13,500 THEA H A IWRH X W 8| 98
Aravie ased = el dafad & @ |

3G aoe ¥ fr aafee aw B @
AT Wi 90% 100%
%o bo
fasa : 15,00,000 16,00,000
fer =19 3,00,500 3,00,600
uREdasie =g 1,45,000 1,49,500
a7d-fer =19 97,500 1,00,400
fafifq sEat 13,500 15,000

sm ek @ wrw Sfa g fer € i@
gfifeafaal &1 @y €@ 90% gwar | fasa @it
10% ® | '

(i) oMUl frehrel § R @FTd W &War &

100% dF eIt 1500 THRIZAT & IARA
farar < |

P T, O
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(a)

(®)

10
s faRvh ues I ¥ ¥ T@ar 8 aW SEE
5000 3HIEAT @AEA H IR § U 17-50 To wfd
THE &% WE A | G A QW A A =My ?
afe o, & sua = fifga Qoo wefad § 2
afz 15 Fo WA 3HE F o4 W IRY e @ &

& = e weme @ S A ? 10
Or (9an)
Explain the different methods of measurement of

divisional performance.
faarita weela @ @ &t fafa= fafedt =t
AR | 5

A company is at present working at 90% capacity
and producing 13,500 units per year. It operates a
flexible budgetary control system.

The following figures are obtained from  its
budget:

Capacity level 90% 100%
Rs. Rs.
Sales 15,00,000 16,00,000
Fixed expenses 3,00,500 3,00,600
Variable expenses 1,45,000 1,49,500
Semi-fixed expenses 97,500 1,00,400
Units manufactured 13,500 15,000

Labour and material cost per unit are constant
under present conditions. Profit margin is 10% of
sales at 90% capacity. '

(

5 3171

September - 1,700
October 1,900
November 2,500
December 2,300
January 2018 2,000

(ii) There will be no work-in-progress at the end
of any month.

(i) Finished units equal to half the sales of the
next month will be in stock at the end of
every month (including June 2017).

(iv) Budgeted production and production cost for
the year ending 31st December 2017 are

thus: _
Production (units) 22,000
Direct materials per unit Rs. 10
Direct wages per unit Rs. 4

Total factory overheads

apportioned to production . Rs. 88,000

Prepare:

(A) Production Budget for the six months of
2017

(B) Summarised production cost budget for the
same period.

I X ¥ gEhyd 2017 % ®: " (R el
2018 1 fosa) F v T fao & g & =
faezor wa Ry T 2 j

P.T.O.



(i) fr= ol F famta geEal §—

S 1,100
T 1,100
fagET 1,700
HFTAL 1,900
ECL L 2,500
ferqra 2,300
SHad, 2018 2,000

(ii) foet ot o & o & N ot wifaeiier =
| B |

(i) ¥OF HE F A A M WE (S 2017 H
fiemary) & fasha & a8 & sUeX AR "I

T Y B | _
(iv) 31-12-2017 & gaw ¥ & faw s=ifes
I IR IQET aNT §— 4
IWEA (FHEan) 22,000
ToIel At afa g 10 Fo
weag Aol wfd g 4 Fo
FA HREHT T S I 88,000 %o
= fawfsa gam
ECIELH

(i) 2017 % & WEHl & fAQ SRA aw1e

(i) 36 7afy & foau d@fa @ arE T9e |
15
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Selling overheads:

Fixed ' 0-50
Variable : 1-00
Total 20.00

A foreign customer is interested in the product
and he is willing to buy 5,000 units (one order) but
at a price of Rs. 17.50 per unit. Should the order
be accepted by the firm? If yes, what can possibly
be the underlying assumptions? Will your advice
be different if the price offered is Rs. 15 per unit?

TF FHE d oaEaT § IO 15,000 IHEA w
A SWRT | 39 WHT 9§ 10,000 ITFEET &
3R & qEt 7w fawa 25/ o Wi @

WY AR A R S 9 @ s amm

T R 32—
o
|mut 8:00
a9 : 6-00
FREA fiery
feort 2-00
LIECGE NI 1-50
Hatag ufteag 1-00
fasha sufeag
ey 0-50
e | 1-00

B | ; 20.00

g A S S



31N 8
TAY 44 | 8,000 10,000 14,000
FEMAT AT
forr 6,000 8,000 6,000
e 2,000 3,000 5,000
sarEE  39Rea:
fert 1,000 2,000 2,000
fasa IR
Fropy 2,000 2,000 3,000
qfEdayis 1,000 3,000 3,000

5. (a) Explain briefly the circumstances under which
selling below marginal cost may be justified.

diwia ara ¥ FW | W fawa & i
g0 At wfifeafaal #t @87 & wwenEe | 5

(b) A firm has a capacity to manufacture 15,000 units
of a product per annum. Presently it produces
10,000 units which are sold in domestic market at
Rs. 25 per unit. The product cost per unit is as

under:
Rs.
Material 8-00
Labour 6-00
Factory overheads:
Fixed 2-00
Variable 1-50
Office overheads (fixed) 1-00

5 1n

3. (a) Distinguish between standard cost and estimated

cost.
TS ARG SR SEI AT § SR Hifg ) 8

(b) Discuss the control ratios commonly used by
management in controlling operations.

TfEeR W = 3 & fag yes=T g gm-
Taa wqF AT AquTal o faae fifwg) 7

Or (#ga) _
The standard cost of a chemical mixture is as follows:

40% material A at Rs. 20 per kg
60% material B at Rs. 30 per kg

A standard loss of 10% of input is expected in
production. The cost records for a period showed the
following usage:

90 kg material A at a cost of Rs. 18 per kg
110 kg material B at a cost of Rs. 34 per kg
The quantity produced was 182 kg of good product.

Calculate all material variances.
TS THEtE fAH @t weE anra e f—
40% W A 20 To wfa fear |

60% |WUt B 30 %o Wfa f&al &

INRT F AN F 10% T uAE gfa o0y & frE
Iafy & o i | e @ g T

90 farel WUl A 18 To ¥fa fFa &t &N W
P.T. O.
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6

110 e |vaHt B 34 To fa fael &t @mma W
182 ol =0 I & IeEA g |

o T e w B 15

4. (a)

(b)

Describe the characteristics and limitations of
Marginal Costing,.

dWioig @t S fadwaei  dwelt &l
T | 5

Calculate break-even point in each of the
following independent situations:

(i) Actual sales 50,000, Margin of safety 30%

(ii) Profit 30,000, Margin of safety 20%,
Variable cost is 70% oef sales

(iii) Margin of safety 70,000, Actual sales
4,00,000

Actual sales 10,000 units, Margin of safety 2,500
units.

fr @ fefadt & 9@  amv-srey fag

faaifae: ' .

(i) orafas fasha 50,000; &1 HH 30% |

(ii) @9 30,000, GIET WE 20%, GG
anTa fasd 70%

(iii) Gr&T €A1 7,000, SRdfaen fa®a 4,00,000

qrefass fas®d 10,000 6E, FIEW HE 2500

TS | il )

(

7 nn
Or(

(a) What do you understand by Break-Even Analysis?

Show graphic presentation of Break-Even chart.

TH-ITS fayww 9 I gHES § 2
-3 91 S ATRE faaur fe@nEn | 5

(b) From the following data prepare Income State-

-ments according to absorption and marginal
costing systems:

Product Product Product

A B C
Sales 30,000 60,000 80,000
Direct Material 12,000 25,000 36,000
Direct Labour 8,000 10,000 14,000
Factory Overhead:
Fixed 6,000 8,000 6,000
Variable 2,000 3,000 5,000
Administration
Overheads:
Fixed 1,000 2,000 2,000
Selling Overheads:
Fixed 2,000 2,000 3,000
Variable 1,000 3,000 3,000
o afFgl @ sravivw @ dinig @vra yonferat
% AR 3 fyaor dun s 10
SUR A JUB 3IWE C
fawa 30,000 60,000 80,000
T QI 12,000 25000 36,000

P.T1.0



